

Definition 3. Suppose that M is an L -structure and $\varphi(\bar{v})$ is an L_M -formula. We will define $RM_M(\varphi)$ the Morley rank of φ in M . First, we inductively define $RM_M(\varphi) \geq \alpha$ for α an ordinal:

- i) $RM_M(\varphi) \geq 0$ if and only if $\varphi(M)$ is non empty;
- ii) if α is limit ordinal, then $RM_M(\varphi) \geq \alpha$ if and only if $RM_M(\varphi) \geq \beta$, for all $\beta < \alpha$;
- iii) for any ordinal α , $RM_M(\varphi) \geq \alpha + 1$ if and only if there are L_M -formulas $\psi_1(\bar{v}), \psi_2(\bar{v}), \dots$, such that $\psi_1(M), \psi_2(M), \dots$ is an infinite family of pairwise disjoint subsets of $\varphi(M)$ and $RM_M(\psi_i) \geq \alpha$ for all i .

Theorem. On the type of the finite Morley rank holds exchange principle.

Список литературы

- [1] A. Dolich, J. Goodrick, D. Lippel *dp-Minimality: Basic Facts and Examples*, Notre Dame J. Formal Logic, **52**, Number 3 (2011), 267–288.
- [2] J.T. Baldwin, A.H. Lachlan *On Strongly Minimal Sets*, J. Symbolic Logic, **36**, Issue 1 (1971), 79–96.

— * * * —

ON JACOBSTHAL AND JACOBSTHAL–LUCAS IDENTITIES WITH MULTINOMIAL COEFFICIENTS

TARAS GOY

Vasyl Stefanyk Precarpathian National University, Shevchenko, 57, Ivano-Frankivsk, 76018,
Ukraine

E-mail: tarasgoy@yahoo.com

The *Jacobsthal* and *Jacobsthal–Lucas* sequences $\{J_n\}_{n \geq 0}$ and $\{j_n\}_{n \geq 0}$ are defined by the recurrence relations $J_{n+1} = J_n + 2J_{n-1}$, $J_0 = 0$, $J_1 = 1$, and $j_{n+1} = j_n + 2j_{n-1}$, $j_0 = 2$, $j_1 = 1$, for $n \geq 1$. The numbers J_n appear as the integer sequence A001045 from [6] while the numbers j_n is A014551. Jacobsthal and Jacobsthal–Lucas sequences have a rich history and many remarkable properties (see [1–5] for more details).

Theorem 1. Let $n \geq 1$, except when noted otherwise. The following formulas hold:

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_0^{t_1} J_1^{t_2} \cdots J_{n-1}^{t_n} = -F_{n-1},$$

$$\sum_{(t_1, \dots, t_n)} p_n(t) J_0^{t_1} J_1^{t_2} \cdots J_{n-1}^{t_n} = \frac{\sqrt{13}}{13} \left(\left(\frac{1 + \sqrt{13}}{2} \right)^{n-1} - \left(\frac{1 - \sqrt{13}}{2} \right)^{n-1} \right),$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_0^{t_1} J_2^{t_2} \cdots J_{2n-2}^{t_n} = \frac{\sqrt{5}}{5} \left(\left(\frac{5 - \sqrt{5}}{2} \right)^{n-1} - \left(\frac{5 + \sqrt{5}}{2} \right)^{n-1} \right),$$

$$\sum_{(t_1, \dots, t_n)} p_n(t) J_0^{t_1} J_2^{t_2} \cdots J_{2n-2}^{t_n} = \frac{\sqrt{13}}{13} \left(\left(\frac{5 + \sqrt{13}}{2} \right)^{n-1} - \left(\frac{5 - \sqrt{13}}{2} \right)^{n-1} \right),$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_1^{t_1} J_2^{t_2} \cdots J_n^{t_n} = ((-1)^n - 1) \cdot 2^{\frac{n-3}{2}},$$

$$\sum_{(t_1, \dots, t_n)} p_n(t) J_1^{t_1} J_2^{t_2} \cdots J_n^{t_n} = \frac{\sqrt{3}}{6} \left((1 + \sqrt{3})^n - (1 - \sqrt{3})^n \right),$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_1^{t_1} J_3^{t_2} \cdots J_{2n-1}^{t_n} = -\frac{1}{2} \left((2 + \sqrt{2})^{n-1} + (2 - \sqrt{2})^{n-1} \right),$$

$$\sum_{(t_1, \dots, t_n)} p_n(t) J_1^{t_1} J_3^{t_2} \cdots J_{2n-1}^{t_n} = \frac{1}{6} \left((3 + \sqrt{3})^n + (3 - \sqrt{3})^n \right),$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_2^{t_1} J_3^{t_2} \cdots J_{n+1}^{t_n} = 0, \quad n \geq 3,$$

$$\sum_{(t_1, \dots, t_n)} p_n(t) J_2^{t_1} J_3^{t_2} \cdots J_{n+1}^{t_n} = 2^{n-1} F_{n+1}, \quad n \geq 3,$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_2^{t_1} J_4^{t_2} \cdots J_{2n}^{t_n} = -2^{n-1} n,$$

$$\sum_{(t_1, \dots, t_n)} p_n(t) J_2^{t_1} J_4^{t_2} \cdots J_{2n}^{t_n} = \frac{\sqrt{5}}{10} \left((3 + \sqrt{5})^n - (3 - \sqrt{5})^n \right),$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_3^{t_1} J_4^{t_2} \cdots J_{n+2}^{t_n} = (-2)^n, \quad n \geq 2,$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_3^{t_1} J_5^{t_2} \cdots J_{2n+1}^{t_n} = -2^{n-1}, \quad n \geq 2,$$

$$\sum_{(t_1, \dots, t_n)} p_n(t) J_3^{t_1} J_5^{t_2} \cdots J_{2n+1}^{t_n} = \frac{1}{16} \left((4 + \sqrt{8})^{n+1} + (4 - \sqrt{8})^{n+1} \right),$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_4^{t_1} J_5^{t_2} \cdots J_{n+3}^{t_n} = -(-2)^{n-1} (2n + 3),$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) J_4^{t_1} J_6^{t_2} \cdots J_{2n+2}^{t_n} = 0, \quad n \geq 3,$$

where the summation is over integers $t_i \geq 0$ satisfying $t_1 + 2t_2 + \dots + nt_n = n$, $T = t_1 + \dots + t_n$, $p_n(t) = \frac{(t_1 + \dots + t_n)!}{t_1! \dots t_n!}$ is multinomial coefficient, and F_n is the n -th Fibonacci number (sequence A000045 in [6]).

Theorem 2. Let $n \geq 1$, except when noted otherwise. The following formulas hold:

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) j_0^{t_1} j_1^{t_2} \dots j_{n-1}^{t_n} = \frac{\sqrt{13} - 11}{6\sqrt{13}} \left(\frac{\sqrt{13} - 1}{2} \right)^n + \frac{\sqrt{13} + 11}{6\sqrt{13}} \left(\frac{-\sqrt{13} - 1}{2} \right)^n,$$

$$\sum_{(t_1, \dots, t_n)} p_n(t) j_0^{t_1} j_1^{t_2} \dots j_{n-1}^{t_n} = \frac{7\sqrt{13} - 13}{26} \left(\frac{3 + \sqrt{13}}{2} \right)^n - \frac{7\sqrt{13} + 13}{26} \left(\frac{3 - \sqrt{13}}{2} \right)^n,$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) j_0^{t_1} j_2^{t_2} \dots j_{n-2}^{t_n} = \frac{19\sqrt{13} + 65}{26} \left(\frac{\sqrt{13} - 3}{2} \right)^n - \frac{19\sqrt{13} - 65}{26} \left(\frac{-\sqrt{13} - 3}{2} \right)^n,$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) j_1^{t_1} j_2^{t_2} \dots j_n^{t_n} = (-1)^{\lfloor \frac{3n}{2} \rfloor} \cdot \frac{(4 + \sqrt{2})(\sqrt{2})^n + (4 - \sqrt{2})(-\sqrt{2})^n}{4},$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) j_1^{t_1} j_3^{t_2} \dots j_{2n-1}^{t_n} = 9(-1)^{\lfloor \frac{4n-1}{2} \rfloor} \cdot \left((2 - i\sqrt{2})^{n-3} + (2 + i\sqrt{2})^{n-3} \right),$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) j_2^{t_1} j_3^{t_2} \dots j_{n+1}^{t_n} = \frac{9(-4)^n}{8}, \quad n \geq 2,$$

$$\sum_{(t_1, \dots, t_n)} p_n(t) j_2^{t_1} j_4^{t_2} \dots j_{2n}^{t_n} = 2^{n-2} \left((-1)^n 9 - 1 \right),$$

$$\sum_{(t_1, \dots, t_n)} (-1)^T p_n(t) j_3^{t_1} j_5^{t_2} \dots j_{2n+1}^{t_n} = -9(-2)^{n-1}, \quad n \geq 2,$$

where the summation is over integers $t_i \geq 0$ satisfying $t_1 + 2t_2 + \dots + nt_n = n$, $T = t_1 + \dots + t_n$, $p_n(t) = \frac{(t_1 + \dots + t_n)!}{t_1! \dots t_n!}$, $i = \sqrt{-1}$, and $\lfloor \alpha \rfloor$ is the floor of α .

Список литературы

- [1] Z. Čerin, *Sums of squares and products of Jacobsthal numbers* // J. Integer Seq., **10**:2 (2007), Article 07.2.5.
- [2] C.K. Cook and M.R. Bacon, *Some identities for Jacobsthal and Jacobsthal-Lucas numbers satisfying higher order recurrence relations* // Ann. Math. Informat., **41** (2013), 27–39.
- [3] A.F. Horadam, *Jacobsthal and Pell curves* // Fibonacci Quart., **26**:1 (1988), 77–83.
- [4] A.F. Horadam, *Jacobsthal representation numbers* // Fibonacci Quart., **34**:1 (1996), 40–54.
- [5] H.-C. Li, *A proof about the Jacobsthal and Jacobsthal-Lucas sequences* // Far East J. Math. Sci., **2**:2 (2012), 605–614.

[6] N.J.A. Sloane, *The On-Line Encyclopedia of Integer Sequences*. Published electronically at <https://oeis.org>.

— * * * —

UNIVERSAL ENVELOPING BICOMMUTATIVE ALGEBRAS FOR METABELIAN LIE ALGEBRAS

ASKAR DZHUMADIL'DAEV^a, KAISAR TULENBAEV^b, NURLAN ISMAILOV^c

*Institute of Mathematics and Mathematical Modeling, Pushkin street, 125, Almaty, 050100,
Kazakhstan*

E-mail: ^ctulen75@@hotmail.com

We establish Poincare-Birkhoff-Witt theorem (PBW theorem) for metabelian Lie algebras and Bicommutative algebras.

Let $A = (A, \circ)$ be an algebra over field with characteristic $p \geq 0$ and $A \times A \rightarrow A$, $(a, b) \mapsto a \circ b$, is product. An algebra (A, \circ) is called *Bicommutative*, if

$$(a \circ b) \circ c = (a \circ c) \circ b (RCom)$$

$$a \circ (b \circ c) = b \circ (a \circ c) (LCom)$$

for any $a, b, c \in A$. We mention that bicommutative algebra over new commutator operation

$[a, b] = a \circ b - b \circ a$ satisfies the following three equations:

$$1. [a, b] = -[b, a]$$

$$2. [[a, b], c] + [[b, c], a] + [[c, a], b] = 0$$

$$3. [[a, b], [c, d]] = 0.$$

It means bicommutative algebra over new commutator operation is Lie metabelian algebra.

Let us remain that an algebra A is called We use description of linear basis of algebras metabelian Lie algebras. Let $F = F \langle a_1, \dots, a_r \rangle$ be free Lie metabelian algebra generating on free variables a_1, \dots, a_r . Then linear basis of F will be the following right-normed products $[[[a_{i_1}, a_{i_2}], a_{i_3}], \dots, a_{i_k}]$ where $i_1 > i_2 \leq i_3 \leq i_k$

This research is financially supported by grants from the Ministry of Science and Education of the Republic of Kazakhstan under the grant number 4075/GF4.